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Ak B R

AL = 9.80 X 9.80
- R D EREAIC & D PERR

— A2 = — [/4X X 0.80° X 25
V1= 96.0 X 0.20
- i D SRR L S PERR
— V2 = — 1/4X X 0.80% X 0.20 X

2. WL oy ) — A

A ( 9.80 + 9.80) X 2 X 0.10
3. Lz U—h
AL = 9,80 X 9,80
- IR D SR B & DR

— A2 = — 1/4XxX 0.80% %X 25
V1= 96.0 X 0.10
- Y RS L AT
— V2 = — 1/4X X 0.80°% X 0.10 X
4. BRI
4-1. 1%L
(1) & MK

A= (960 4+ 960 ) X 2 X 2.20

EXEEIEET
HEEEMEL = 200 mn

= 96.

= -12.

EBEHMEZA = 83.

' = 19.

25 = -2.

EMPM vV = 16.
[ZEXT B ]

ML=zt 7 ) —hEt = 100 mm

96,

-12.

BLarsy—FrYA

25

83.

BWLayz—FrEV
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(2) HiIBE, B

EECIIEEN
a) By BE
Al = 1/2%x { 5.17 4+ 541 ) X 7.86 = 41.
A2 = 1/2x { 5.26 + 5.50 ) X 7.86 == 42,
A= ( 1.41 — 1.00) X 7.86 = 3,

Ad = 1/2X ( 517 + 5.26 ) X 2.95 + 5.26 X 0.50

— 1/2%x ( 2.67 + 3.67 ) X 1.00 = 14
A5 = 1/2X ( 5.41 + 5,50 ) X 2.95 + 5.50 X 0.50
1

— 1/2x ( 2,91 + 3.91) X 1.00 = 15
WIBE TR O~ o F I 12 % B |
A6 = — 1/2X ( 5.26 + 5.30 ) X 1.40 o= .
AT = — 1/2X { 550 + 5.46 ) X 1.40 = .
b) 7 o
A8 = ( 1.6% + 2.14) X 2 X 0.156 X 2 = 2,
TA= 104
(3) t &
EEEIIETR
Al = 5.06 X 8.49 ' = 43,
A2 == 6,46 X 0.10 = 0.
A3 = 6.46 X 8.59 — 3,03 X 0,30 — 8.59 X 0.30 = B2,

LA = 95.

W
25




(4) MEER N

Al

AZ =
A3 =
A =
Ab ==

A6

- AT

Al

A2

A3 =
Ad =

Ab
A6
A7

(8) T~ b

Al

A2

A3

Ad

Ab

AG

I

+

7

1/2x ( 9.0l + 9.08) X 4
1/2%X { 0.52 + 0.58) X 4
2.25 X 7.69

( 0.48 + 0.20) X 0.42
5.56 X 0.70

1/2x ( 8.19 + 7.69 ) X 0.
/2% ( 8.04 + 7.69 ) X 0
FERE |

1/2% (9.2 + 9.30 ) X 4.
1.50 X 2.00 — 0.21 X 4,65
/2% (0,74 + 0.80 ) X 4.
2.25 X 7.69 — 1.50 X 2.00
( 0.48 4 0.20) X 0.64

( 1.50 + 2.00) X 2 X 0.
1/2x ( 8.19 + 7.69 ) X 0.
12X ( 8.04 + 7.689 } X O
1/2x ( 3.72 + 3.72) X T
1/2% 0.31 X 0.01 — 1/2x% 0.
0.11 X 0.156 X 2

( 0.64 — 0.45) X 7.86
1/2X ( 0.50 + 0.69 } X 6.
/2% ( 2.39 + 2.24 ) X 5,
1/2% (373 4+ 3.72 ) X 0
/2% ( 2.87 + 3.32 ) X 0.
/2% ( 3.71 + 3.69 ) X 0
1/2x ( 2.87 4+ 3.32 ) X 0
0.156 X 0,95 X 2

EXEIIEE
65 — 0.21 X 4.65 = 4.1 o’
17 = 2.3 u’
= 173 o
0.3 n’
3.9 n
71 + 8.49 X 0.28 8.0 m’
B0 X 2 = 7.9 n
65
= 391
17 = 3.2
= 143
0.4 n
70 4.9 o
71 + 8.49 X 0.28 8.0 m’
50 X 2 = 7.9 n’
HBER AN FRA = 158.6 n’
[ZExT] 6 |
86 |
31 % 0.01
=203 o
= 1.5 m
46
06 = 16,6 m
.95
45 = 2.1 n
.95
.45 = 2.1 n°
= 0.3
RH2y hEA = 50,9 n
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6 %= &

A ETIE
Al == ( 3.16 + 5.46 + 3.15) X 0.30 = 3.5 m
A2 = 1/2X { 2.26 + 2.95) X 0.50 X 2
+1/2% (2,95 + 2.95) X 0.21 X 2
+ 1/2x ( 5.46 + 5.76 ) X 0.21
+ 1/2x ( 5.76 + 5.06 ) X 0.50 = 7.7 n’
LHESA = 1.2
() U4 T RUNF
[ZHER] 8
£ {jl ERY 4> EL = 500 mm
Al = 1/2X ( 1.40 + 3.45) X 3,00 X 2 = 0,21 X 300 =  13.9 o’
A2. = ( 1.40 + 3.61) X 0.50 == 2.6 m
A3 = 1/2X { 2.68 + 3.03) X 0.71 2.0 m
A = 1/2X 0.50 X 0.60 = 0.2 n’
NPT R B HERR
— A = — 1/2% ( 2.68 4+ 3.03) X 0.50 ' = =14
S SR BRI 4 7TEL = 500
Al = 1/2Xx ( 9.21 4+ 9.23) X L00 X 2 — 0.21 X 100 = 18.2 m’
A2 = 9.21 X 0.50 4,6 n
A3 = 1/2Xx ( 8.58 + 8569 ) X 0.71 = 6.1 w
NI X B R
— A = — 1/2X ( 8.58 + 8.59 ) X 0.50 = —4.3 n
VA VTRUNYTEA = 418 o
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=
Al = 0.36 + 0.36
A2 = ( 1.32 4+ .79 + 0.22 + 0.13 ) X 7.65
A3 = ( 0.16 + 0.21) X 0.21 _
Ad = 1/2X ( 0.15 + 0.21 ) X 7.65
- H O
Al = 0.36 + 0.36
A2 = ( 1.32 + 0.79 + 0.22 + 0.13) X 5,65 .
A3 = ( 0.15 + 0.11) X 0.21
M = 1/2x ( 0.156 + 0.11 )} X b5.65
(9) 1 RIUMGE
LA = 845 -+ 1045 -+ 956 + 158.6
+ 50,9 + 1.2 + 41.8 +

(8) B %

4-2. 2L (AIEERE O %)

A = 1.50 X 2.00 X 2
4-3. EETHET
(1) 2352w b, BEEIH

Al = (.31 + 0.31 + 0.20 X 8.16
A2 = 0.20 X 7.26

A= ( 1.21 + 0.79 + 0.22 + 0.03 ) X 0.95 X 2 =

HIBElT L A PER
M= —1/2% ( 0.10 + 0.09) X 0.40
—1/2x ( 0.11 + 0.10 ) X 0.39

(2) TEABEHIREEE
A= ( 1.00 + 2.50) X 2 X 0.84
(3) b3 ThE TR A

LA = 8.0 + 59

I ,///\n\ §< I 9 l

= 0.7 m

= 18.8 m”

0.1 m

= 1.4 m?

= 0.7 m

= 13.9 o’

= 0.1 m

= 0.7 m

BEEHEA = 36.4 w

36.4 . = 5835 n’
[ZEXN] X5 ]

= 6.0 m’

= 9.3 o’

= 1.5 m?

4.3 m

= 0.1

NGy P EA == 8.0
2@ HL0-2]

= 5.9 m

= 13.90 o’
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5. M=z Y—Fh
5-1. 1 ¥hT
(1) I R
V= 9.60 X 9.60 X 2.20
- R D LS K S HERR
— V2= — 1/4XxX 0.80°

(2) AiEE, HHE

a) m A
VI = 1/2x{1/2x( 5.17 +
+ 1/2x( 5.26 +
Ve = 1/2X ( 5,26 + 5.50
V3 = — 1/2x{1/2x( 2.67
+ 1/2x (2,91

b) & M
V4= 1.69 X 2.14 X 0.15

(3) % hE

VI = 6.46 X 8.49 X 1.00
v2 = 1/2x ( 0.10 + 0.09

(4) AIEER O~
o |: |

V1= 1/2x ( 9.01 + 9.08
V2 = 1/2X 0.20 X 0.20 X
V3= 1/2x ( 8.19 X 0.20
V4= 1/2X 0.70 X 0.70 X
o |
V1= 1/2x (" 9.23 + 9.30
1.50 X 2.00 X 0.70
V2 = 1/2x 0.20 X 0.20 X
¥3 = 1/2x ( 8.19 X 0.20
V4 == 1/2X 0.70 X 0.70 X

202.8 m
X 0.10 X 25 1.3 m’
R E V 201.5 m’
5.41 ) X 7.86

5.50 ) X 7.86 )} X 2.95 123.7 m'
IX  7.86 X 0.50 21.1 m’

+ 3.67) X 1.00
+ 3.91) X 1L.00)} X 7.8 -95.9 n°
X 92 .1 m
oV 120.0 n’
| 54.8 m’
) X 0.48 X 6.46 0.3 m
HEEY V 55.1 m°

) X 4.65 X 0.70
— 0.48 X 0.20 X 0.42 = 29.4 m
8. 49 0.2 m
+ 7.69 X 0.70) X 0.50 1.8 m
/3% ( 8.04 + 7.69 + 7.69) 1.9 n

Yy X 4.66 X 0.70
— 0.48 X 0.20 X 0.64 28.0 m°
8. 49 0.2 n°
+ 7.69 X 0.70 ) X 0.50 1.8 o
/3% ( 8.04 + 7.69 + 7.69 ) 1.9 w
BIBER RN F BV 65.2 m

Al-12




(6) RTFTwy k
V1 = 1/2%{1/2X( 3.72 4+ 3.72 ) X 17.86

+ 1/2x( 3.71 + 3.70) X 7.8} X 0.95 = 27.7
V2= 0.11 X 0.16 X 0.95 X 2 = 0. 03
V3 = — 1/2X{1/2X(  2.87 4+ 3.32) X 0.45
+ 1/2x( 2.87 + 3.32) X 0.45} X 7.86 = -10.9
NRI_y FEV = 16. 8
6) % &
V1= 1/2X ( 0.30 X 3.156 + 0.80 X 3.65) X 0.50 X 2 = 1.9
V2 =1/2% ( 0.30 X 5.46 + 0.80 X 6.46 ) X 0.50 = 1.7
THRIV = 3.6
(1) D4 T RO TF
= Ml
V1= 1/2X ( 1.40 + 3.45 ) X 3.00 X 0.50 = 3.6
V2 = 1/2X 0.50 X 0.50 X 1/3X ( 2.68 -+ 3.03 + 3.03 ) = 0.4
H O
VI=1/2% { 9.21 + 9.23 ) X 1.00 X 0.50 = 4.6
V2 = 1/2X 0,50 X 0.50 X 1/3X ( 8.58 + 859 + 8.59 ) o 1.1
T4 T RN T TV = 9.7
(8) BE =
#= o
V1= 0.36 X 7.65 = 2.8
V2= 1/2X ( 0.15 + 0.21 ) X 7.65 X 0.21 = 0.3
Al
VI = 0.36 X 5.65 = 2.0
Ve =1/2x ( 0.156 + 0.11) X 565 X 0.21 = 0.2
BEEM NV = 5.3

@ 1¥k=r 2 U— hEEt
2V = 201.5 4+ 120.0 + 55,1 4+ 652 4+ 16.8 -+ 3.6
+ 9.7 + 5.3 . = 477.2
5-2. 2®HEIL ({AEER D)
V= 150 X 2.00 X 0.70 = 21
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5-3. F¥IiEL .
(1) N5y kb (ock=236 N/mm2)

V o= 0.20 X 8.16 X 0.95 = 1.6 u
(2) BB (ock=24 N/mm2)
V = 0.3 X 0.95 X 2 = 0.6 m°
(3) #EFERHIEEERE (o6 ck—24 N/mm2)
V = 1.00 X 2.50 X 0.84 = 2.1 m°
4) FIHTar2 ) — &3
- o ck=36 N/mm2
TV = - = 1.6 n’
« g ck=24 N/mm2
SV = 0.6 + 2.1 ' = 2.7
6, #
BlERE L v
' : : ( SD345 ) -
e | s | \ES Tl . =
l 5
s MO TR T e (6w i) ©
D10 ke 6 6 I\ / 6
D13 i 1 291 3 1204 |\ 2f 1 315
D16 i 7 877 26 7903 || \ 7 903
D16 D19 | 5938 | 44 | 5982 \ 5 982
§ D22 | 5 951 5 951 \ 5 951
D25 D25 | 2 667 2 667 A\ 2 667
3 i 22 433 70 22 503 —\/ 22 503
D29 D29 | 3 737 3 737 N5 4 512
3 D2 | » | es2 | 652 A 652
D32 3 " 4 389 - 4 389 | 7%5 5 164
D35 ) 4 082 4 082 [\ 4 082
D3R J - / \ _
N En ) 32 201 73 32 274 || [ 796\ 33 070
DI64D16 | 4 FF 20 20 |/ \ 20
Mk | D19+D19 | 32 32 ||/ \ 32
=t i 52 - 52 |/ - \ 52
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(1) & WK
EEIETT
h =  2.200 m
SEHIFRER h = 30.0m
A= ( 11.8 + 11.8 ) X 2 X 2.2 = 103.8 Hpn®

EE T

EHEREE h=1/4X ( 14.936 + 14,807
+ 15.154 + 15.056 ) — 4.735 = 10.253 m
FHIFRE® h = 30.0m ' |
A= (122 4+ 10.1 + 10.2 + 63 + 1.9 + 43
+ .6 + 4.3 4+ 1.5 ) X 10.3 = 5284 i’
(3) BB TAR
TA= 103.8 + 5284 = 632
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8. X & L

(1) ™ kg EEIEEN
TR b = | = 8494
SEEJ ) -HE L= = 0.500

h=30.0m , WS40kN/m2 , < SUHEXHRL

VI— 6.5 X 3.7 X 85 — 3.6 (ZHa) = 200.8

(2) ERBEIEHIER (x| X13 |
PHEREE b =1/4X( 3.669 + 2.669 + 3.913 + 2913 ) = 3,291
SEHgayy)-ME ¢ =1/2X ( 1.500 -+  2.530 ) = 2,015

h<<4.0m , 40kN/m2<W=60kN/m2 , » 74K AR T
Vi = 1/2x{1/2x ( 3.7 4+ 2.7 ) X 1.0
+1/2X( 3.9 + 2.9 )y x L0 } X 7.9 = 26. 1

(3) 73Ty MR [ZEX] X3 ]
HIFREE h =1/4x( 3.338 + 2,874 -+ 3.330 + 2.86 ) —  3.102
vy )-MNE ¢ =1/2X ( 0.400 + 0.843 ) = 0.622

h<4.0m , W=40kN/m2 , N A7 K -PEHET

Vi = 1/2x{1/2X ( 33 4+ 2.9 ) X 0.5

+1/2x( 3.3 4+ 2.9 )X 05 } X 7.9 s 12.2

4) v |

= W | EEIET
FHyRRER b =1/2X( 7.662 + 5562 ) = 6.562
R )-hE ¢ —1/2X (1,400 + 3,445 ) = 2.423
h=30.0m, 40kN/m2<W=80kN/m2 , < IUWEEEHT

Vi=1/2%X( 7.6 + 56 ) X 3.0 X 0.5 = 9.9

(6) Z{RILAF

h<30. 0m, WS40kN/m® < SUMEGHHELT

IV = = 201
h=30.0m, 40kN/m2<W=80kN/m2 , < SUFAXETL

BV = | = 10
h<4. Om , W=Z40kN/m2 , A7 -bFELT

IV = = 12
he<d Om , AOKN/m2<W=60kN/m2 , A~ A7 9K -bFHET |

LV = == 26

Al-17




9. FTEMKET

(28] P16 |

(1) ZEMEE n = 2 &
(a) MEEMH: ¢ 300
L = .64 X 4 X 2 = 131 n
(b) —Mshup
A= ( 1.97 + 1.52 )X 2 X 0.03 X 2 = 0.4
10, vy U— g
| BT
10—1. 1%&HT
Al = 1/2X ( 2.87 + 2.87 ) X 7.86
+ ( 0.40 + 0.64 + 100 ) X 7.86 4+ 0.11 X 0.15 X 2 = 386 n’
A2 = 7.86 X 2.95 — 1.65 X 1.20 X 2 — 1.00 X 2.50 = 16,7 o
A3 = ( 1.69 + 2.14) X 2 X 0.16 X 2 = 2.3
A = 1/2% ( 4.80 + 4.82 ) X 1.45
+1/2% (108 4+ 1.00 ) X 2.50
— 1/2x ( 2.87 + 3.34 ) X 0.45 = 8.2
AS = 1/2X ( 4.77 + 4.80 ) X 1.45
+1/2x ( 1.08 + 1.00 ) X 2.50
— 1/2% ( 2.87 + 3.33 ) X 0.45 = 8.1 n
A= 739

A

L

3 A

2.46 X 3

11. AKE&ESALT (VPH100)

0.84 + 1.00 X 2.50

EXEIIEEE

1.4

Al1-19




12, TH M

[ | 18 |
[EREL = 500 mm
(1 B %
Al = 0.42 X 6.44 = . 2.7 n
A2 = 3,15 X 5.46 = 17.2 o’
EREZA = 199 o
(2) =y Uk '
V = 6.44 X 4.13 X 0.50 = 13.3 o’
3) Tra—Fyv7 ' N = 12
0. 10mX 1274 = 1.2 m
(4) AL SGP  (404)
LY 00 20mX 12FK = 2.4 m
(5) 78 H# #
1/4X 7 X ( 0.040% X 0.200 — 0.022% X 0.150 ) _
X 1530 ke/n® X 12 = 3.6 kg
(6) 32 & (94 ) EHRELY
A= ' = 1.4 n
(M B & (EHRLY ) |
t = 20mm
A= 602 + 3.4 = 9.5 m?
t = 10mm
A= - — 67
8) A= paryY—F '
V = 1/2X 4.13 X 0.04 X 6.42 = 0.5 n

Al-21




13, B B R
ESE
e i b T
;ﬁg
( 2.52 + 6.8¢ + 4.52 )X 0.40 2
(2) =toxU—h
y = ( 6.8 + 6.8 ) X 600 X 0.40 16.4 o
(3) & W
BLfrE L v ( SD345 )
e B W 5
i \?ij B — 7 R
D10 N\ | ke 8 / 8
D13 N 694 / 694
D16 " / 1.
D16 D19 | \v /
S D22 | MW 453 | / . 453
D25 D25 ) 1 162 1 162
| 1615 1 615
D29 D29 | » | \ /
§ N3 | N\ /
LI T R N4
& 3t y X 2 317 2317 |
4y 7rh—%xy v/ ( S5400 PL Z¢ 6 N = 14
1/4X 7 X 0.060% X X 0 14 = 1.0 kg
(5) HAA4 SGP (404)
NeArEd & Y = 10.9 kg
(6) 75 tH #F
1/4% % ( 0.040% X 0.200 — 0.022% X 0.NG60 )
X 1530 keg/w - X kg
(7 ¥ & ( TA
A = 1/2%X ( £.84 + 6.84) X 0.20
(8) B #t #f BRI D )

Al-22




14. &+ T

(1) IR 48 ©
- A BEIg
Vv =1/6x{ (2 X 16.1 + 13.0) X
+ (2 X 13.0 + 16.1) X
(2) B & L
-HEL B (W,>4.0m)
V1= KD &LV
— V2 = Efi LY
—V3=HLarys)—FLY
— V4= Ef= 71— XY
— Vb = 7Y — LY
= — 7.9 X T.1 X 0.6

(3) #&-tdns
WRELOLEEEE €= 0.9
V= 658.8 — 3935 / 0.9
(4) EmEFE
A = i LY

16.1
13.0 } X

| 28| 220 |

3.1

658.8 m’

658.8 m’
-19.2 n’ .

9.6 m
-202.8 n°

-33.7 m

BELXEV

393.5 m’

221.6 w’

83.4

Al-24




15, 1 ff 4

[ZRE] K21
X122
(1) s ™=
iR D BE
HigE  $800 . REMHE L = 43.5nm | FiAESE n = 25 &
LUF, #a1AR%D
(2) tHEEE
SR B W URERES HAE g &
‘ (ram) (mm) (kg/m) (ke)
N1t SKK490 12 6 000 233 1 398
=R SKK400 9 2 000 176 352
o B2 SKK400 9 5 500 176 968
A3 SKK400 9 10 000 176 1 760
4 SKK400 9 10 000 176 1 760
F_#t SKK400 9 10 000 176 1 760
&t 43 500 B 7 998
(3) HHES TR
FLEET AR D
« ALk oy (Kdk 2 - PL 25 X 12 X 2365 )
0.025 X 0.012 X 2.365 X 7850 X 2 = .1 kg
AVIEHARysS— (AbhwsS—6 - PL25 X 9 X 50 )
0.025 X 0.009 X 0.050 X 7850 X 6 = 0.5 ke
' ( 6 f8)
ALV TR
x X 0776 X 2 = 4.9 n
- B M REEETR
CEMY Y (55400 4 - PL 50 X 4.5 X 2443 )
0.050 X 0.0045 X 2.443 X 7850 X 4 = 17.3 kg
« A bR (55400 24 - PL 6 X 20 X 30)
0.006 X 0.020 X 0.030 X 7850 X 24 = 0.7 kg
R A (55400 4 - PL 50 X 12 X 2551 )
0.050 X 0.012 X 2.551 X 7850 X 4 = 48.1 kg
S sk
;1 P (88400 1 - PL 300 X 12 X 2551 }
0.300 X 0.012 X 2.551 X 7850 X 1 = 721 kg
» BRI IRYE R
5.0 m

r X 0.800 X 2 =

Al-26




(4) HREHAH RSk

D35 (SD345) = = 458 kg
D13 (SD345) = ' = 49 kg
() Wk z U—h
Vo= 1/4X 2 X( 0.800 — 0.012 X 2) %X 1,550 = 0.7 m
(6) HIGHET 4 »FF
() THes 1
8 # Al ‘
T H O NE_|© JBE DXO S
iy 0 2. 46 0. 00
wEt 1 1. 50 1,50
WE L 12 6,70 80. 40
i<y ez 3 3.90 11. 70
, W+ 4 .00} 4. 00
N e 3 1. 80 5,40
X4y |HVE A+ 12 2.30 27. 60|
oy o 5 4.40] . 22. 00
wE A+ 12 1.70 20. 40
i o 5 0. 90 4,50
et 12 5. 30 63. 60
g e - 6 7. 00 42. 00
WE L T 0. 90 15. 30
i\ .8 5. 00 ~40.00
e L 46 1. 30 50, 80
= Bt 46, 16 398. 20
CMETHNE = g
46. 16
(9) \EI%L ( 2FEHEE)
- R
V=1/4Xzx 080 * x 2546 x 25 = 319.9 n
- WE L
V =1/4X X  0.80 % X 20,70 X 25 = 260.1 n
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| Yok® | memn ysvy| 6200 n 47,8

7 4 NH =t YLAKSPHM | ¢ 80mmi m’ 72.15
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L AR T u—TiEE

X X1
]2
[¥]3
1} Fl—r (AR ¢ =50mm
BEEEW I T
(8. 027 + 8.027 + 8.027 4+ 8027 / 4 = 8,027 m
3,005 X 6.860 + 5.002 X 7.360
+ 8027 X 1. 000 ' = 65.59 m’
- = 65.6 m
2y HEAKE 200 (BMEERY =F 1 )
LRARE |
7.160 + 10,000 x 2 4+ 20,600
= 47.76 m
e = “47.8 m
3) TN (BNARF] ¢ 80mmik)
7.360 X 1000 4+ 7.860 X 10.600 = 90. 68
A = 90.68 m®
90.68 X 0.800 = 72.54
y L= 72.5
4) FEEET (BAdLEL7 b
$1
126,668 X 7.860 ' ‘ = 995, 61 w’
74 H =R
- 72,54 = ~72.54 m°
v = 923 w’
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